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1. The test for the equality of two population variances assumes:

(a) that the population variances are known.

(b) that the population variances are equal.

(c) that each of the two populations are normally distributed.

(d) that the means of the two populations are equal.

2. In the stock market has a 5-day work per week. If we want to measure the impact of the day of the week on stock market
performance we would need __ indicator variables.
@7
)6
)5
D4

3. One hundred students took a test on which the mean score was 73 with a variance of 64. A grade of A was given to all who
scored 85 or better. Approximately how many A’ s were there, assuming scores were normally distributed? (Choose the
closest) (@) 42 ()7 @©58 (@) 22

4. If the coefficient of correlation equals 0.61, it indicates that the proportion of the variation in the dependent variable
explained by the variation in the independent variables is:
@ 37% G)61% (¢)98%  (d) cannot be determined.

5. The average starting salary for graduates at a university is $25000 with a standard deviation of $2000. How many of the
graduates would have a starting salary between $21000 and $29000 ?
(a) Atleast75% (b) atleast89% (c)atleast 68% (d) at least 95%

6. Autocorrelation in a regreésion forecasting model be detected by the (8) F test (b) Mann-Whitney test (¢) Durbin-Watson
test (d) Kruskal-Wallis test
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7. In a telephone survey, respondents are asked to provide the level of satisfaction about a policy using a scale of 0 to 100.
What is the level of measurement about satisfaction? (a) Nominal (b) Ordinal (c) Interval  (d) Ratio.

8.Let X, and X, be observations of a random sample from a distribution with p. d. f. £ (x)=2x, 0<x<1, zero

elsewhere. Evaluate the conditional probability Pr (X, < X, | X, <2.X,).

(@ 38 M®8&17 (c)4/1(d) 311

9. In time series analysis

(a) the sequencing of measurements is usually at discrete, regular intervals

(b)one should remember that analysis is always multivariate as opposed to univariate analysis
(c) autocorrelation of the values of the series is unacceptable

(d)observations are nearly always measured at the end of some period of time

10. One way to remove seasonality from a series is to

(2) take a moving average of 3 periods.

(b) take a moving average equal to twice the seasonal length.
(¢) take a moving average of 12 periods.

(d) take a moving average equal to the seasonal length.
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